R-interface-compat®22

R-interface-compat(A;B)
=4ef if Rsends?(B)—
if Reffect?(A)—
let k& = Reffect-knd(A) in
if isrev(k) A2 Ink(k) = Rsends-1(B)— Rsends-dt(B)(tag(k))?Void C p Reffect-T(A)
else True fi
; Rsends?(A)—
let k¥ = Rsends-knd(A) in
if isrev(k) A2 Ink(k) = Rsends-1(B)— Rsends-dt(B)(tag(k))?Void C p Rsends-T(A)
else True fi
else True fi
else True fi

clarification:

R-interface-compat(A;B)
=get if Rsends?(B)—
if Reffect?(A)—
let k = Reffect-knd(A) in
if isrev(k) A2 Ink(k) = Rsends-1(B)—
fpf-cap(Rsends-dt(B);IdDeq;tag(k);Void) C p Reffect-T(A)
else True fi
; Rsends?(A)—
let k = Rsends-knd(A) in
if isrev(k) A Ink(k) = Rsends-1(B)—
fpf-cap(Rsends-dt(B);IdDeq;tag(k);Void) C p Rsends-T(A)
else True fi
else True fi
else True fi
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